

Corrections to

Fels, M., and Olver, P.J., Moving coframes. I. A practical algorithm, *Acta Appl. Math.* **51** (1998), 161–213 .

Change formula between (9.5) and (9.6) to

$$\eta_2 = \frac{u\alpha + u_x}{u} dx = \frac{u\alpha + u_x}{u^2} \eta_1,$$

Change formula between (9.7) and (9.8) to

$$\eta_2 = -\frac{u\alpha + u_x}{u^2} \eta_1 - \frac{u_y}{u} dy$$

The second formula in (9.11) should be $\bar{y} = y + \log f'(x)$.

The second formula in the following displayed equation should be $\zeta_2 = \frac{u_x}{u_y} dx + dy$.